## **Political Advertising Information Form**

Date of Request: 10 117118 Accepted? Yes_ No_
Candidate/Issue Sid Daoud for MT HD8
Sponsoring Organization:
Address: PO Box 8474
Official:Title: Can   Treasurer
Official:Title: Can / Treasurer
Authorization (if different from sponsor):
Address:
Official:Title:

Note: Please attach Station Confirmation Order to the form. Upon completion of the schedule, please attach time/date affidavit of performance. Also, please attach script/transcription of all commercials aired.



SUDAD DAOUD FOR MT HD 8
PO BOX 8474
Kalispell, MT 59904

## **600 KGEZ Order Confirmation**

OrderID: 0845-001

Sponsor: Product: Sudad Daoud for MT HD 8 Sudad Daoud for MT HD 8

Estimate/PO:

AccountRep:

Ryan Langford

BillingCycle:

Calendar Month

InvoiceType: Run Dates:

Detail

10/19/2018 - 11/6/2018

Items Ordered:

29

Ordered Amount: \$400.00

\$1390.00

Scheduled Station(s): 600 KGEZ Sudad Daoud for MT HD 8

Printed 10/17/2018 1:30:29 PM

Page 1

				-			_	-		-								- 3-
_	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Fri	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	10/19/2018 - 10/19/201	All Weeks	05:00 AM - 10:00 AM					1			1	:60	Spot		S0845-001	4	20.00	20.00
02	10/20/2018 - 10/20/201	All Weeks	07:00 AM - 05:00 PM						2		2		Spot		S0845-001	-		20.00
03	10/21/2018 - 10/21/201	All Weeks	07:00 AM - 05:00 PM						-	4	4					2	10.00	20.00
04	10/22/2018 - 10/26/201	All Weeks	05:00 AM - 10:00 AM	4	4	4	4	4			-		Spot		S0845-001	1	8.00	8.00
05	10/27/2018 - 10/27/201	All Weeks	07:00 AM - 05:00 PM			1	- 1	1	_		5		Spot		S0845-001	5	20.00	100.00
06	10/28/2018 - 10/28/201	All Weeks							2		2	:60	Spot		S0845-001	2	10.00	20.00
07	10/29/2018 - 11/2/2018		07:00 AM - 05:00 PM							2	2	:60	Spot		S0845-001	2	8.00	16.00
1		All Weeks	05:00 AM - 10:00 AM	1	1	1	1	1			5	:60	Spot		S0845-001	5	20.00	100.00
80	1110/2010	All Weeks	07:00 AM - 05:00 PM						2		2		Spot		S0845-001	2	10.00	20.00
09		All Weeks	07:00 AM - 05:00 PM							2	2		Spot		S0845-001	2		
10	11/5/2018 - 11/5/2018	All Weeks	05:00 AM - 10:00 AM	2						-	1		Spot			4	8.00	16.00
11	11/6/2018 - 11/6/2018	All Weeks	05:00 AM - 11:59 PM	-	6						6				S0845-001	7	20.00	20.00
			00.007441 11.001141		U						6	:60	Spot		S0845-002	6	10.00	60.00

Calendar Month Projected Billing:

Oct-18

244.00

Nov-18

156.00

Dec-18

0.00

Q4-2018

400.00

Confirmed Correct; Payment Guaranteed

Accepted for 600 KGEZ

Spot Number: 4528 Spot Label: CLEA CLEAR&; Sudad Daoud for MT HD 8

Spot Length: Run Dates: 10/19/2018-11/6/2018

Instructions:

Assigned To:

Completed by

Date/Time:

Date/Time:

Hi I'm Sid Daoud, your grass roots Libertarian, and a vote that counts

I am one of your two choices for Montana House District 08 this year

If you live in the district we have probably already knocked on your door.

Here are a few things that set me apart from my opponent.

I am the candidate endorsed by the Montana Shooting Sports Association, picked by Montanans for Limited Government and live in the district.

As a veteran I have a focus on supporting our Montana Vets)

As a political outsider, I owe no one and will work for YOU and your natural rights - not a party agenda

If I missed you, check me out at vote4sid.com, that's V O T E 4 S I D .com

Enough with the safety scissors its time to get out the buck knife and cut the pork.

Paid for by SID DAOUD FOR MONTANA HOUSE DISTRICT 08, Box 8474 Kalispell MT 59904

1